I’m a farmer, and I grow watermelons and cantaloupes. Water melon seeds cost $0.50 dollars, cantaloupe seeds cost $1. I only have $10.

What is a way that we could represents the number of watermelon or cantaloupe seeds I could buy? Explain
        






If I sell a watermelon $2 and a cantaloupe for $1.50, how many seeds should I buy?








Optimize- To make something as “good” as possible

Constraint- What limits us as we optimize

Feasible Region- A shaded area of a graph that describes our constraints
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